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                                                               Practice 13 Problems
                                                                     7 problems
                                                                    SOLUTIONS
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Practice 13 Problems
sec 9.3 .......p697, prob 6, 8, 12, 24

sec 10.1.......p742, prob 4, 16
                    p743, prob 40



 ______________________________________________________________________


1]   Sec 9.3   p697, prob 6
      Solve the system of equations.
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SOLUTION
Use the method of substitution
Solve the second equation for the x variable
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and substitute this expression into the first equation
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Find the corresponding values of the x variable

For     
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Graphically, this means that the straight line   
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 intersects the ellipse 
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at the points 
[image: image14.wmf](

)

4,2

-

 and  
[image: image15.wmf](

)

4,2

-



The graph is 
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2]   Sec 9.3   p697, prob 8
      Solve the system of equations.
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SOLUTION
Solve the second equation for the y variable
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Substitute this expression into the first equation

                                                                          
[image: image19.wmf](

)

2

2232

xyx

==-



                                                                         
[image: image20.wmf]2

64

xx

=-



                                                                        
[image: image21.wmf]2

640

xx

-+=



Using the quadratic formula
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we get

                                                                              
[image: image24.wmf]35

x

=±




The corresponding values for the y variable are


For     
[image: image25.wmf]35

x

=+

                   
[image: image26.wmf](

)

3352735

y

=+-=+



         
[image: image27.wmf]35

x

=-

                   
[image: image28.wmf](

)

3352735

y

=--=-



So the line intersects the parabola at the points
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The graph is

                     [image: image31.png]3
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3]   Sec 9.3   p697, prob  12
      Solve the system of equations.
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SOLUTION
For this problem the easiest method is to use the method of elimination


Let’s eliminate the 
[image: image33.wmf]2
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 variable
Subtract the second equation from the first equation
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Let’s use the first equation 
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to find the corresponding values for the x variable
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For     
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The ellipse and the hyperbola intersect at the four points
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The graph is
                                          [image: image51.png]





4]   Sec 9.3   p697, prob 24
      Solve the system of equations.
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SOLUTION
Use substitution again
Solve the second equation for the y variable 
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and substitute this expression into the first equation
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Multiply both sides of the equation by 
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Put it in standard form, that is, have zero alone on one side of the equation
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Factor the left side of the equation
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Use the Zero Factors Principle
                                                            If 
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Set each factor on the left side of the equation equal to zero
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The corresponding values for the y variable are



For        
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The points of intersection of the two hyperbolas are
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The first two points will be displayed as intersection points on the graphs
The last two points will not/can not be displayed on the graphs because the coordinate system
we are using permits only the display of points with real number coordinates
These last two points involve the imaginary unit  
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The graph is 


                                               




5]   Sec 10.1   p742, prob 4
      Perform the indicated operation, if possible.
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SOLUTION
In matrix addition corresponding elements are added
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6]   Sec 10.1   p742, prob 16
      Perform the indicated operation of matrix multiplication, if possible.
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SOLUTION
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7]   Sec 10.1    p743, prob 40
      Perform the indicated operations if possible.
      Given 
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      find
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SOLUTION
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